Lunes, 18 de mayo
Tarea: 4 d,
4d)

x(x=5+x"=Cx-D(x-1

X' =5x+x"=3x"-3x—x+1 3x -1

2x° =5x=3x"—4x+1 ¥ x =1

3% —4x+1-2x>+5x=0 —3x +1
a=1 3x° —x

X H+x+1=0b=1 3x° —4x 1
c=1

It =411 —1%-3 . .
= > = > sin soluciones

La ecuacidn no tiene soluciones.

4f)15—(x+2)> =(x—3)" +2x
15— +4x+4)= (x> —6x+9)+2x
15—x"—4x—4=x"-6x+9+2x

—xX’—4dx+11=x>—4x+9; —x*—4x+11-x"+4x—-9=0

a=-2
—2x°4+2=0 <b=0
c=2
x—+—4——]
—04,J0P=4-(=2)-2 0+4 [T 47
x: = =
—4

Soluciones: x,=-1 y x,=1



x 42
* x 42
+2x +4

¥’ +2x
x° +4x +4

5a)

x =3
g x =3
—-3x +9

x’ =3x
x> —6x +9

x(2x+1)—(x_T]):3

2x(x+D—1-(x-1f 2-3

2

2x° +2x—(x2 —2x+])=

2
6

2x+2x—x*+2x-1=6

X’ +4x—1=6; x’+4x-1-6=0
a=1
x’+4x-7=0 <b=4
c=-7
—4+ 211 —
x_—4i\/42—4-1-(—7)_—44_r2\m_ 1= 2 = -2+
- 2.1 - 2 - _4_
. = 4 22\/11 T
Soluciones : x,=-2+A~11 y x,=-2-+~11
X — 1
o X — 1
-x +1
XZ — X
x2 =2x +1



5e)

2(x+3)(x=3) e x(x=2)
5 2 2

min.cm.(5,2)= 10

x +3
* x =3
2-2(x+3)(x-3)+5-x S5-x(x—-2)
= -3x -9
10 10 5
X +3x
x° -9
4(x2—9)+5x=5x2—]0x; 4x’ =36 +5x=5x"—10x
a=-1
4x° =36 +5x=5x*+10x=0; —x"+15x—36=0{b=15
c=-36
_—]5+9_3
x_—]5i\/]52—4-(—])-(—36)_—]5i9_ M
2-(=1) Y/ x2=_]5_9=]2
-2

Soluciones: x,=3 'y x,=12

P4g. 100, 13 ¢c y 14 ¢

10



